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WHPSHUDWXUH 55°C 50°C

WLPH�DIWHU�

WHPSHUDWXUH
∆T + 10 ∆T + 5 ∆T + 6 ∆T + 8 ∆T + 8 8

ZDVK�W\SH ctrl ctrl ctrl pulse_2 pulse_2 pulse_1

WRWDO�WLPH 24 9 10

WHPSHUDWXUH 50°C 50°C 50°C 55°C 56°C 65°C 55°C
14 m in. 

65°C
50°C 40°C 70°C

WLPH�DIWHU�

WHPSHUDWXUH
∆T + 7 ∆T + 2 ∆T + 4 ∆T + 12 ∆T + 41 ∆T + 10 ∆T + 12

WHPSHUDWXUH 70°C 70°C 65°C

WLPH�DIWHU�

WHPSHUDWXUH
∆T + 14 ∆T + 10 ∆T + 12

ZDVK�W\SH ctrl ctrl ctrl pulse_2 pulse_2 pulse_2 pulse_2 ctrl ctrl pulse_2 ctrl

WRWDO�WLPH 40 37 60 14 10 10 s ec

WHPSHUDWXUH
4 m in. 
65°C

WLPH�DIWHU�

WHPSHUDWXUH
5 5 5 5 5 5 5 5

ZDVK�W\SH ctrl pulse_2 pulse_2 pulse_2 pulse_2 pulse_2 pulse_2 pulse_2 pulse_2

WRWDO�WLPH 6 8 6 6 6

WHPSHUDWXUH
4 m in. 
65°C

WLPH�DIWHU�

WHPSHUDWXUH
5

ZDVK�W\SH ctrl pulse_2

WRWDO�WLPH 6 8

WHPSHUDWXUH 70°C 70°C 70°C 70°C
15 m in. 

68°C
65°C 65°C

9 m in. 
70°C

55°C 65°C

WLPH�DIWHU�

WHPSHUDWXUH
∆T + 1 ∆T + 1 ∆T + 1 ∆T + 1 ∆T + 1 ∆T + 1 ∆T + 1 ∆T + 1 ∆T + 1

ZDVK�W\SH pulse_2 pulse_2 pulse_2 pulse_2 pulse_2 pulse_2 pulse_2 pulse_2 pulse_2 pulse_2

WRWDO�WLPH 17 19 14 15

!���
���

WRWDO�WLPH 13 13 54 14 s ec.

112 92 150 24 s ec.

*
�
�!


ctrl  = constant speed 2800 rpm

pulse_1 = 3"/4" 1600 rpm + 0,9" 2800 rpm
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pulse_2 = 3"/4" 1600 rpm  +  0,6" 2800 rpm

∆ T + Y  = fixed time "Y" after reaching of temperature �������������


